CVS BEST DEALS 9/22 - 9/28 Savvy Coupon Shopper

GARNIER FRUCTIS SHAMPOO/CONDITIONER 2/\$8 BUY (2) GET \$3 EXTRABUCK

Buy (2) Garnier Fructis Shampoo/Conditioner 2/\$8
Use the \$3/2 Garnier Fructis digital coupon
Pay \$5 & get a \$3 ExtraBuck
Final cost is \$2 for both or \$1 each

TRESEMME HAIR CARE SPEND \$20 GET \$10 EXTRABUCK

Buy (3) Tresemme Hair Spray \$6.99 each Total comes to \$20.97
Use the \$3 off \$15 Tresemme crt
Pay \$17.97 & get a \$10 ExtraBuck
Final cost is \$7.97 for all 3 or \$2.65 each

TIDE 84 OZ, TIDE PODS 18-42CT, GAIN 88OZ AND GAIN FLINGS 25-42 CT \$12.99

Buy (1) Tide Liquid 84 oz \$12.99

Buy (1) Tide Pods 25-42 ct \$12.99

Total comes to \$25.98

Use the \$3/1 Tide Liquid digital coupon (exp 9/28)

Use the \$3/1 Tide Pods digital coupon (exp 9/28)

Pay \$19.98 & get an \$8 ExtraBuck

Final cost is \$11.98 for both or \$5.99 each

CREST 3D WHITE 2.4OZ, PRO HEALTH 3.5 - 4.3 OZ, COMPLETE 5.4OZ TOOTHPASTE, ORAL-B CHARCOAL, SENSI SOFT OR VIVID 1CT TOOTHBRUSH \$3.94

BUY 2 GET 4 EXTRABUCK

Buy (2) select Crest/Oral-B products \$3.94 Tota comes to \$7.88 Use the \$3/2 Crest/Oral-B digital coupon Pay \$4.88 & get a \$4 ExtraBuck Final cost is 88¢ for both or 44¢ each.

ANY COVERGIRL COSMETICS BUY 2 GET \$6 EXTRABUCK

Buy (2) CoverGirl Eye Cosmetics \$5.79 Total comes to \$11.58 Use the \$4 CoverGirl CVS App Coupon Pay \$7.58 & get a \$6 ExtraBuck Redeem to Ibotta for \$2 CoverGirl rebate Final cost is both for Free & 42¢ MoneyMaker

ANY GILLETTE/VENUS DISPOSABLE RAZORS, GILLETTE/SATIN CARE SHAVE FOAM/GEL

BUY 1 GET 1 50% OFF

BUY 2 GET \$3 EXTRABUCK

Buy (2) Gillette Foamy Shave Cream (\$3.59, \$1.80) Pay \$5.39 & get a \$3 ExtraBuck

Final cost is \$2.39 for both or \$1.19 each

AXE BODY WASH OR SHOWER GEL BUY 1 GET 1 50% OFF

BUY (2) GET \$3 EXTRABUCK

Buy (2) Axe Body Wash (\$6.49, \$3.25)

Total comes to \$9.74

Use the \$5/2 Axe Body Wash digital coupon

Pay \$4.74 & get a \$3 ExtraBuck

Final cost is \$1.74 for both or 87¢ each

OGX/MAUI/NEUTROGENA HAIR PRODUCTS

BUY 1 GET 1 50% OFF

BUY 2 GET \$4 EXTRABUCK

BUY (2) OGX Quenching Coconut Curls Shampoo/Conditioner (\$8.99, \$4.50)

Total comes to \$13.49

Use the \$6/2 OGX digital coupon

Pay \$7.49 & get a \$4 ExtraBuck

Final cost is \$3.49 for both or \$1.75 each

SCOTT BATH TISSUE 12-ROLL, COMFORT PLUS 18 DOUBLE ROLL OR 6 DOUBLE ROLL PAPER TOWELS \$8.99 EACH

SPEND \$30 GET \$10 EXTRABUCK

Buy (4) Scott Bath Tissue 12-Roll \$8.99 each

Total comes to \$35.96

Use \$1/1 Scott Bath Tissue digital coupon

Pay \$34.96 & get a \$10 ExtraBuck

Redeem to Shopmium for \$1 rebate on Scott Bath Tissue

Final cost is \$23.96 for all 4 or \$5.99 each

GARNIER FRUCTIS SHAMPOO CONDITIONER 2/\$8 BUY 2 GET \$2 EXTRABUCK

Buy (2) Garnier Whole Blends 2/\$8

Use the \$3/2 Garnier Whole Blends digital coupon Pay \$5 & get a \$2 ExtraBuck Final cost is \$3 for both or \$1.50 each

ARM & HAMMER DETERGENT 27.5 - 28 OZ 2 FOR \$8

Buy (2) for \$8 Use the \$3/2 Arm & Hammer digital coupon Final cost is \$5 for both or \$2.50 each

CVS \$10 CHALLENGE

Transaction #1:

- (2) Garnier Fructis Shampoo/Conditioner 2/\$8
- (2) select Crest/Oral-B products \$3.94

Total comes to \$15.88

Use the following:

\$3/2 Garnier Fructis digital coupon

\$3/2 Crest/Oral-B digital coupon

Pay \$9.88 & get the following:

\$4 ExtraBuck for Garnier Fructis

\$4 ExtraBuck for Crest/Oral-B

Transaction #2:

- (2) Axe Body Wash (\$6.49, \$3.25)
- (1) SkinnyPopcorn 4.4 5.3 oz \$2.97

Total comes to \$12.71

Use the following:

\$5/2 Axe digital coupon

\$4 ExtraBuck for Garnier Fructis

\$4 ExtraBuck for Crest/Oral-B

Pay \$0 & earn a \$3 ExtraBuck

\$10 OFF \$70 SCENARIO BUY THE FOLLOWING:

- (4) Scott Bath Tissue 12-Roll \$8.99 each
- (2) Axe Body Wash (\$6.49, \$3.25)
- (2) Garnier Fructis Shampoo/Conditioner 2/\$8
- (2) select Crest/Oral-B products \$3.94
- (2) CoverGirl Eye Cosmetics \$5.79

Total comes to \$73.16

USE THE FOLLOWING:

\$10 OFF \$70 BOOSTER COUPON \$1/1 Scott Bath Tissue digital coupon \$5/2 Axe Body Wash digital coupon \$3/2 Garnier Fructis digital coupon

\$3/2 Crest/Oral-B digital coupon

\$4 CoverGirl CVS App coupon

\$2/1 CoverGirl Eye digital coupon

\$2/1 CoverGirl Eye printable coupon (coupons.com)

Deducts: -\$30

Pay \$43.16 & get the following:

\$10 ExtraBuck for Scott products

\$3 ExtraBuck for Axe Body Wash

\$3 ExtraBuck for Garnier Fructis

\$4 ExtraBuck for Crest/Oral-B

\$6 ExtraBuck for CoverGirl

\$1 rebate from Shopmium for Scott

Final cost is \$16.16 for all 12 items or \$1.34 each

CVS UNADVERTISED DEALS

RAEL FACIAL MASKS

BUY 1 GET \$2 EXTRABUCK Buy (1(Rael Facial Mask for \$3.99 Pay \$3.99 & get a \$2 ExtraBuck Final cost is \$1.99

REAL TECHNIQUES/ECOTOOLS SPEND \$15 GET \$10 EXTRABUCK

Buy (1) Real Techniques Expert Face Brush \$9.59 Buy (1) Real Techniques 2 in 1 Miracle Powder Puff \$6.59 Pay \$16.18 & earn a \$10 ExtraBuck Final cost is \$6.18 for both or \$3.09 each

WILD WILLIES BEARD PRODUCTS SPEND \$20 GET \$10 EXTRABUCK

Buy (2) Wild Willies Beard Butter \$10.99 Pay \$21.98 & get a \$10 ExtraBuck Final cost is \$11.98 for both or \$5.99 each

ZITSTICKA BUY 1 GET \$3 EXTRABUCK

COTTONELLE GENTLEPLUS FLUSHABLE WIPES BUY 1 GET 1 50% OFF BUY 2 GET \$2 EXTRABUCK

Buy (2) Cottonelle GentlePlus Flushable Wipes 42 ct (\$4.99, \$2.50)

Total comes to \$7.49 Use the \$1/1 Cottonelle Wipes digital coupon Pay \$6.49 & get a \$2 ExtraBuck Final cost is \$4.49 for both or \$2.25 each

NIVEA BODY WASH 16.9 - 30 OZ BUY 2 GET \$7 EXTRABUCK

Buy (2) Nivea Women's Body Wash 20 oz \$7.29 each
Total comes to \$14.58
Use the \$3/2 Nivea Women's Body Wash coupon 9/22 Save Insert
Pay \$11.58 & get a \$7 ExtraBuck
Final cost is \$4.58 for both or \$2.29 each

SELECT METHOD PRODUCTS BUY 1 GET 1 50% OFF BUY 2 GET \$2 EXTRABUCK

Buy (2) Method Pure Peace 18 oz Body Wash (\$9.29, \$4.64) Pay \$13.93 & get a \$2 ExtraBuck Redeem to SwagBucks for \$5 Final cost is \$6.93 for both or \$3.46 each

BOOST PRODUCTS
BUY 1 GET 1 50% OFF
BUY 4 GET \$8 EXTRABUCK

CUREL LOTION
SPEND \$20 GET \$10 EXTRABUCK